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x [A a0 21380 x [2]a1]0][3]4]8]09
f(x) 3 5 -1 -4 0 8 10 g(x) -5 -3 -1 1 0 3

Use the tables above to find the following combinations of fand g. If not p0551ble explain why.
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Use the equations you created above to solve for each variable.
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f(x) =x%—4x g(x)—5x+3 h(x) =+vx—6
D (-%0, ) \70\ "\ Eﬂp 00)
State the Domain of the following combinations: £ (!{\ = X (X *‘Q
Xx+0 X#9
8. (F+o)® 9. (9 W) 10.(2) oo <

F"ﬂ (’\)o \70\ 'DS,\‘:E_(OIVQ\ ’D__S, E(O, 0) (O)L\)m\m}



flx) =x%—4x g(x)=5x+3 h(x) = Vx —
Find the following combinations of. If not possible, explain why. 100 +MO
SLLD 23 )
()(4) ¥“ =12 (g o) - gD h(w) 13, (F +R)(-10) 14. (g— )
—— i 53.2 4O+ S rd— (x =Yy )"
ondefine t\ (.Cm .\, ; \ d i __’E:E_ ﬁﬁ‘l;{)
I ‘ O (D Unget ine . - !
‘0&0 S I l —1O i not A )j“K +ax +3
Use the graphs of fand g for problel.ns #15-21 -H\JL Doman of \'1 [
O 6, 2)
5 0 5
........... RNl L
Ds AECRCE
e e e e e
State the Domain of the following combinations:
N L
15. (f — g)(®) 16. (E) (x)
Dy b4 2) Ds [—U\;;D(flﬂj
3
Find the following combinations of fand g. If not possible, explain why.
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